[bookmark: _GoBack][image: ]









[image: ]
[image: ]
[image: ]
image1.png
logs 1

1. Simplify 'l‘;i”;’f, where a >0 and b > 0.
A2
B. 3a
C. log,3a

D. log,(9a* —3a)

1soAl 2. Evaluate logs2 + logs 50 — logs 4.

3. (a) Given that log, x = P, show that log,qx = 1P.

(b) Solve log, x +logy x = 12.

soal 4. Given x = logs3 + logs 4, find algebraically the value of x.

(soa] 5. The diagram shows a sketch of partof the graph of y = logsx

(@) Make a copy of the graph of y=logs x.
On your copy, sketch the graph of y=1logs x + 1.
Find the coordinates of the point where it crosscs the x-axis.

(®) Make a second copy of the graph of y=logs x.
On your copy, sketch the graph of y=lnssl:.

isoal 6. Find x if 4log, 6 —2log, 4 = 1.
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1. Simplify 11‘::’42, ,where a >0 and b > 0.
A2
B. 3
C. logy3a

D. log,(9a* - 3a)

Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
A EX) A/B 0 0 NC_[A® W12P1020

1soAl 2. Evaluate logs2 + logs 50 — logs 4.

Part | Marks | Level | Calc. | Content Answer T30C3
2 C | NC [A% 7 2000 P1 Q9
T | A/B [ NC [A28
! pd: uselog, x +log,y = log, xy o' logs100 — logs 4
o? pd: uselog, x —log,y =log, % o? logs25
o pd: uselog,a=1 : <2
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4.

(@) Given that log, x = P, show that log; x = 4

(b) Solve log, x +logy x = 12.

* pd: process and complete

ss: use appropriate strategy
pd: start solving process

pd: complete process via log to expo
form

o logyx+ blogyx =12
o logyx =8
o x=3%(=6561)

Part | Marks | Level | Calc. | Content Answer T3003
@ | 3 A | N [A%s ‘proof 0107207
® | 3 A | N [Axm ¥ =3 (= 6561)
o' ss: convert from log to exponential | ! x =47
form o2 log,, x = log,, 4°
o2 ss: know toand convertback tolog | o log,,x = P x log, 4 and complete
form

Given x = logs 3+ log; 4, find algebraically the value of x.

Part | Marks | Level | Calc. | Content

Answer

3003

1 C | NC [a31

3 | A/B| NC [A%

1995 P1 Q19
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5.

6.

“The diagram shows a sketch of partof the graph of y = logs x

s
(@) Make a copy of the graphof y = logs x.
On your copy, sketch the graph of y=logs x +1. o
‘Find the coordinates of the point where it crosses the x-axis. ®1
9| a,0 x
(®) Make a second copy of the graph of y=logs x.
On your copy, sketch the graph of y=|ogs‘;. !

Part | Marks [ Level | Calc. | Content Answer U30C3
@ | 2 C | NC [Ax 194 P1Q16
(@ 1 A/B | NC | A3
@ | 2 [A/B| NC [A%,A3

' sketchof new function

& logsxal

< )

e

m 3

& logsl=-logsx

#* reflectinx-axis

Find x if 4log, 6 — 2log, 4 =

Part | Marks | Level | Calc. | Content

Answer U30C3

3 C | NC | A32, A28, A31

x=81 2001 P1 Q8

o! pd: uselog-to-index rule

? pd: use log-to-division rule
o ic: interpret base for log, a =
simplify

o! log, 6% — log, 42
o log, &

* all processing leading to x = 81





